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6.2 Volumes Using Cylindrical Shells
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Slicing with Cylinders

EXAMPLE 1  The region enclosed by the x-axis and the parabola y = f(x) = 3x — x?

is revolved about the vertical line x = —1 to generate a solid (Figure 6.16). Find the volume
of the solid.
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The Shell Method (@lin/r.‘m/ ﬁrmu/u>

Shell Formula for Revolution About a Vertical Line
The volume of the solid generated by revolving the region between the x-axis and
the graph of a continuous function y = f(x) = 0,L =< a =< x =< b, about a ver-

tical line x = L 1s
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z) (EXAMPLE 4) The region between the curve y = \/;, 0 < x < 4, and the x-axis is
revolved about the x-axis to generate a solid. Find its volume.
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3 ( EXAMPLE 10 ) The region bounded by the parabola y = x? and the line y = 2x in the
first quadrant is revolved about the y-axis to generate a solid. Find the volume of the

solid. "y >
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Exercive. : Read Exmfk 1 amd Z A S€CE2 in buok.



